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2) The Great Wall of Gorgon is located in

vl
2
3
4

Iran
Scotland
China
Britain

SN— N N N

A : The Great Wall of Gorgon

«ff 830 26T (A ¢vo o #rs s zafee

The Great Wall of Gorgon 6351 311 TRES | afbcs om voft safie 7sf, asfo
GEAPRI Q9. BEH BIICde] IQICR T1 PE IR PTS I |

3) In a class of 65 students and 4 teachers, each student got sweets that are
20 % of the total number of students and each teacher got sweets that are
40 % of the total number of students. How many sweets are there?

T ;A Frwd Al #mr = 65 W9 20 % = 13 01
AfST Pree e oMt = 65 13 40 % = 26 0|

65 Td FPF1 I 97 = 13 x 65 = 845 10|

4 T Prge fafE o1 4 x26 = 104 T

. G0 fIi® = 949 0|



4) What kind of storage device can be affected by fragmentation?

1
2
3

va

Optical
Laser

Solid - State
Magnetic

~— N N S

1A 2 -TISCECTTA (A FTO TIAVP COIRS [Goi3s, (THd 26 &% 3G (HDD) 2rerkio
| -ABIE, ETGR M HATG-Cob GO FEGIRAS FISTECT (AP Ao = 1|
IS 2 GITR QBi6 CoIae fafbies [ios Trasmg 2o orer o= aft HDD @
AR S Y IO IR, A P13 (0, “RARGE 7L F2 e 27 fOrF 6T 2R 2108 132
DI X IR | AP, DRI [6%F DO (AP ASTRO 2 A1 PRV GIGT SF (WP
O T3 QD RIS BICP (@11 2 | CTOIR A8 HeTG-Co0 RowRsafeics ©ibT
ANSTADPOIR AT QR AETPE PO LT AT 2, 13 IS B CHCa 2ACTST K |
e : Structured Computer Organization (6th ed.)

5) If 3 sides of a triangle are 6cm, 8cm and 10cm then the altitude of the
triangle using the targest side as its base, while be

v 1)4.8cm
2) 4.4 cm
3)6cm
4) 8 cm

1A : 4}, fToeing foaf IR IA@E

a =6cm;b=8cm;c=10cm

- gt ek,

S = (a+b+c)/2 = (6+8+10)/2 = 24/2 = 12 GIITRTR]|
- frgaita cFawa = = V{S(S-a)(S-b)(S-c)} cm?
= v{12(12-6)(13-8)(13-10)} cm?

= V(12x6%x4x%2) cm?

= V(576) cm?

= 24 cm?

CI\3TT I, TIg@ibd I208 IR 10 cm

b =10cm

4f3, TH61 h GIFSRITR
T, 1/2 x b X h =24
=1/2 x10 x h =24

.10 h =48

~h=4.8



6) A man purchases two clocks A and Bata total cost of Tk. 650. he sells A
with a 20 % profit and B at a loss of 25 % and gets the same selling price for
both clocks. What are the purchasing prices of A and B respectively?

1) 225, 425
2) 275, 375

3) 300, 350
v 4) 250,400

TN : 4], A 9T FIGH = X O

" B 9 T = (650 - X) TR

PTG, 120 % 9T X = 75 % 7 (650 - X)
= 120x/100 = 75(650-x)/100

= 120x =48.750 - 750x

= 195x = 48.750

~ox =250

Tie A TRGI TN 250 TIPT

W32 B Tf%I FIEH 650 - 250 = 400 T |

7) The national symbol of Bangladesh was approved by the Cabinet on

1) 25 February 1972
2) 18 January 1972
v 3) 28 February 1972
4) 21 January 1972

[Solution IO TE R DR S R
A Ay CEFWA S»aR AL |

wrérn «dtE
fewdam BIAFH T
m 1B war )
fo% &% wear
Sy o wia Wy By afre
AT P Wiy Y RN, o

#8ites feaant | Mripire wibwme el wrvags

wrdn wdis




8) Tk. 6,000 becomes Tk. 7,200 in 4 years at a certain rate of simple interest.
If the rate becomes 1.5 times of itself, the amount of same principal in 5
years will be:

1) Tk. 8,000
v 2) Tk. 8,250
3) Tk. 9,000
4) Tk. 9,250

T+ CRAT T, T = 6,000 T

SPATST = 7,200 BT

. 4 IR 5 = 7,200 - 6,000 = 1,200 TT

SJK T = (S S00)/ (AT X ) = (Y00 x500)/(b000x8) = ¢%
. T R B[ = ¢ U 5.8¢% = 4.¢%

. T SIS = (AT TR X STH)/ 00 + AT

= (6000x7.5x5)/100 + 6,000 = 2,250+6,000 = 8,250 GTT |

9) The profit earned by selling an article for Tk. 900 is double the loss
incurred when the same article is sold for Tk. 450. At what price should the
article be sold to make 25 % profit?

Tk. 750
Tk. 800
Tk. 600
Data inadequate

1 : 4f], HRIT0I PR X T

2PIACO, 900-x = 2(x-450)

= 900-x = 2x-900

= 3x = 1,800

.. X =600

WO, G0 FAFT 600 TTPT

", 25 % S0 RPN = (600 97 125 %) TR
= 600x (125/100) = 750 TR |

vl
2
3
4

N— N N N

10) To fill a tank, 25 buckets of water are required. How many buckets of
water will required to fill the same tank if the capacity of the bucket is
reduced to two- fifth of its present capacity?

v 1)62.5
2) 35
3) 10



4) Cannot be determined

N : 4f4, IR 4RI FTol p I0H |
. 25 b Ireiod <nfd 4@ 25 p R
U, JTETROL Apd 4R 3F0l 2/5 p 0K
4fd, DI1RT G 300 x 0 I SA1s1cs |
AT, 2/5 px = 25p

S X =62.5

11) The largest part of the human brain is

vl
2
3
4

Cerebrum

Medulla oblongata
cere bellum

None of these

S— N N N

AT : The cerebrum is the largest and most highly developed part of the
human brain. It consists of two-thirds of the brain mass and associated with

higher brain function such as thought and action. It has two hemispheres and
each has four lobes.

12) What are the two most abundant elements in the Universe?

1
2
3
v 4

Carbon and Oxygen
Nitrogen and Oxygen
Helium and Lithium
Hydrogen and Helium

S~— N N N

4 : Hydrogen is more plentiful than any other element making up about
3/4th the mass of the universe. Helium is second making up almost all of the
remaining 25%. Oxygen is third most abundant element of universe. On

earth, oxygen is the most common element making up about 47% of earth's
mass.

13) Three boys agree to divide a bag of marbles in the following manner. The
first boy takes one more than half the marbles. The second takes a third of
the number remaining. The third boy finds that he is left with twice as many
marbles as the second boy. The original number of marbles is:

1) 38
2) 36
3) 32
v 4) Connot be determined

S~— N N N



AT 2 SF I (@ = (x/2) + 1

T I @ 1/3 {(x/2)-1} = (x/6)-(x/3)

< AR AP = {(x/2) + 1} - {(x/6)-(x/3) }
= {(x/2)-1-(x/6)+(1/3)}

= {(x/2)-(x/6)-1+1/3}

= {(3x-x)/6} - {1-(1/3)}

= (2x /6) - {(3-1)/3}

= (x/3) - (2/3)

T O TETPT 9T = x/3 - 2/x O

. TR ST A 1 58K T |

14) Which of the following tools is used in business intelligence?

1) OLAP

2) Data Mining

3) Web mining
v 4) All of these

4 : OLAP (Online Analytical Processing) is a technology that allows users to
analyze data from multiple dimensions. OLAP tools are often used for
business intelligence to analyze sales, marketing, and customer data.

Data mining is the process of extracting useful information from large
datasets. Data mining tools are often used for business intelligence to identify
trends, patterns, and anomalies in data.

Web mining is the process of extracting useful information from the World
Wide Web. Web mining tools are often used for business intelligence to
gather data on competitors, customers, and markets.

For example, an OLAP tool could be used to analyze sales data by product,
region, and time period. A data mining tool could be used to identify
customer segments based on their purchase history. A web mining tool could
be used to gather data on competitor pricing.

5P Bwd . 1) All of these

15) Tartar tribe lives in

v 1) Russia
2) Belgium
3) China
4) Greece

AT : BT BAGNG ART I P | TTOR BAGG TNED T3
IS BT - PRI



4 - 3T
SO - eFforT
HPY - PP
TAFL - 9F @I QP

16) Who was the British Prime Minister during the Partition of India?

1) Benjamin Disraeli
2) Winston Churchill
v 3) Clement Atlee
4) William E. Gladstone

14 : Clement Attlee, the Prime Minister of the United Kingdom, announced
on 20 February 1947 that: The British Government would grant full self-
government to British India by 30 June 1948 at the latest, The future of the
Princely States would be decided after the date of final transfer is decided.

17) Which of the following is used in pencil?

1
v 2
3
4

silicon
Graphite
Charcoal
Phosphorous

~— N N S

AT : PR T T \3 TSR o/

-PIRICAS RTAMIK UATSH 2(T- W@ 3 %l

-HPRHD AT ST X1 M I 1Y T2 AT |

3RF P15 PTG INR AT |

SITPIR0 B0y e “ARRIR! AT O ARG TS W INTO |

TATT TR FAR TS I P ST ARG F1I A3 57 (000 SPIRE IR0 2 |
GO . IS, a75-0TH QI |

18) Fresh grapes contain 80 percent water while dry grapes contain 10
percent water. If the weight of the dry grapes is 250kg what is total weight
when it was fresh?

1) 1,000 kg
2) 1.100kg
v 3) 1,125kg
4) 1.225kg



AT ; 4R, TS TRER (16 \9TGd foe x @l
PTG (100-80) % I X = 225

=20 % I x = 225

= 20x/100 = 225

= x/5 =225

o x = 1,125 @&

19) What is the term for the area where the river meets the ocean?

MY : An estuary is an area where a freshwater river or stream meets the
ocean. In estuaries, the salty ocean mixes with a freshwater river, resulting in
brackish water.

20) P and Q started a business in the ratio of 2:3. After 2 years P left the
business but Q continued. After 3 years he had a profit of Tk. 26,000. What
was the profit of P?

Tk. 8,000
Tk. 15,600
Tk. 18,00
No profit

v
2
3
4

~— N N S

mam : 4R, P @3 Rfdamesk «f & = 2x e
W3R Q 13 [faces® <iikeT = 3x T
2PIHCO, 2x%24:3X%X 36

= 48x:108x

= 4x:9Xx

= 4:9

WO P A3 FATPH AR

= 26,000 x 4/(4+9)

= 26,000 x(4/13) = 8,000 TIT |

21) The first tribal cultural academy of Bangladesh is located in

1) Rangamati
2) Chattogram
3) Rangpur



v 4) Netrokona

AT : TREE - @@ (SR 75197 Soreek [RFAIR |
ARTDTBIE H»aq |

22) What is the meaning of BCC 'in an Email?

vl
2
3
4

Blind Carbon Copy
Bling Close Copy
Bearer Carbon Copy
Blind Close Contact

~— N N

7T : BCC A3 UG 1 57853 11 T3 $100 2 RGP (2P 3-Caet DI I1Tco 5T g

mwwammmaﬂwaﬂwmwﬁﬂmwzaczl

23) In MS-word, which of the following shortcut keys are used for aligning

text to center?

1) Ctrl + M
2) Ctrl + C
v 3)Ctrl + E
4) None of these

4z Ctrl + S = save

Ctrl + C = copy

Ctrl + X = cut

Ctrl + V = paste

Ctrl + Z = Undo

Ctrl + Y = Redo

Ctrl + P = print

Ctrl + E = Center Alignment
Ctrl + F = Find

Ctrl + H = Replace

24) What is the name given to the sequence of steps which a computer

follows?

1) Instructions

v 2) Algorithm
3) Flowcharts
4) Software



AT : A set of step-by-step procedures for accomplishing a task is known as
a(n) algorithm.

An algorithm is a well-defined procedure that allows a computer to solve a
problem. Another way to describe an algorithm is a sequence of
unambiguous instructions. ... In fact, it is difficult to think of a task performed
by your computer that does not use algorithms.br/> A programming
algorithm is a computer procedure that is a lot like a recipe (called a
procedure) and tells your computer precisely what steps to take to solve a
problem or reach a goal. The ingredients are called inputs, while the results
are called the outputs.br/>

25) Which of the following is considered to measure the printing quality?

AT : Dot Per Inch (DPI) is used to describe the resolution number of dots per
inch in a digital print and the printing resolution of a hard copy print dot gain

the increase in the size of the halftone dots during printing. This is caused by
the spreading of ink on the surface of the media.

26) What is the name of the Inventors of Virus?

vl
2
3
4

Damitri Ivanowsky
Robert Mentel
Louis Pateur
Antoni

N— N N N

4 : Discovered by:

Dmitri lvanowsky in 1892.:

He recognized an infectious agent, which caused tobacco mosaic disease
and were smaller than bacteria.:

M.W. Beijerinek in 1898 called the filter ‘Contagium vivum fluidum’ and
named it the ‘virus'.

27) On peacekeeping mission, Bangladesh Police first went to
1) Ethiopia
v 2) Namibia
3) Congo



4) Kenya

AT+ 2P SSAysTT AT fPa” 543 e Sobrs S XMEP! fopcd 1At ©F I |
JIECPT GIARTRAT Q15T (T Ydbrbr I |
ARIRAT \3 REATERTRAT Q15T (T Y90 AH |

28) One third of Aman's marks in Mathematics exceeds a half of his marks in
English by 30. If he got 240 marks in the two subjects together, how many
marks did he get in English?

1) 180

2) 120

3) 90
v 4) 60

AN ; 4R, A1 51D N1 x AN
3% BRRTGCO M1 y AT |

X +y =240

= 2X + 2y = 480 ------- (i)
WRK X/3 - y/2 = 30

= (2x-3y)/6 = 30

5 2x -3y = 180 ------ (i)

QA SRR (i) - (if) PR N3,

(2x + 2y = 480) - (2x- 3y =180 ) = 5y = 300
..y = 300/5 = 60

e 7 3ERECS 60 AR (T |

29) Which of the following commands is given to invoke Task Manager '?

v 1) Ctrl + Alt + Del
2) Ctrl + Alt + F4
3) Ctrl + Del + F12
4) Alt + Del + F4

T4 : Ctrl + Alt + Delete = Task Manager, Shut down. Lock, Reboot 3951 31
AR Gy I A |

30) Find the largest number of 5 digits which, when divided by 16, 24, 30 or
36, leaves the same remainder 10 each case.

v 1) 99370
2) 99360



3) 99350
4) 99340

A9R 16, 24, 30, 36 92 771 6, oy afay
2116, 24, 30, 36

28, 12,15, 18
24,6, 15,9
32,3,15.9
2,1,5.3
J[AT: .. M ANS. =2x2x2x2x3x3x5=720
WA WS, 5 WEE 9EEW WA = 99999
SR 720) 99999 (138
99360
639
S S WrsE B = 138 x 720 = 99360
fardy wew s = 99360 + 10 = 99370

31) P and Q are two positive integers such that PQ = 64. What of the
following cannot be the value of P + Q?

1) 16
2) 20
v 3) 35
4) 65

AR : (YA QH, PXQ = 64;

PxQ =1 x 64;
PxQ = 2x32;

PxQ = 4x16;

PxQ = 8x8

AF@P + Q=14 64 = 65 X0ANKI
P+Q=2+4 32 =34 YOI
P+Q=4+4+16 =200 9|
P+Q=8+4+8=16 X0 AK|
fFIP + Q = 35 TO *M a1 B3 Ut 6|

32) When 30% of one number is subtracted from another number, the
second number reduces is its four-fifths. What is the ratio of the first second
number?

1) 3:2
v 2)2:3
3) 2:5
4) 4:7



AT+ 4], BT AT 100

SRIH 30 % XF 100 99 30 %

=100 x (30/100) = 30

IR 411, T SR X

2P0, X - 30 = x U7 4/5

= X - 30 =4x/5

= 5x - 150 = 4x

= 5x -4x =150

S X =150

WGAd, AT %30 TG = 100 :x = 100:150 = 2:3

33) A circle and a rectangle have the same perimeter. The sides of the
rectangle are 18cm and 26cm. what is the area of the circle?

1) 1.250 sq.cm

v 2) 616sg. cm
3) 154sq. cm
4) 88sq. cm

AT 2 (T ACE, SRR ¢df 18cm

3R TIROCHER 2% 26Cm

ARIOCHAd ARAE

=2 (18 + 26) =2 x 44 = 88cm

4fd, I I T cm JCS< AR 2nr cm

2PJHCO, 21r = 88

~r=88/{(2x22)/7} = (88/1) x 7/(22x2) = 14 cm

TG,
JCSA CFAPA nr2 ¢cm?
= 22/7 x (14)? = 616 cm?

34) What will be the result of the formula = Min (Average (B1, B2), Product
(B3: B4) where value of B1 = 20, B2 = 24, B3 = 15, B4 = 207

1) 20
v 2)22
3) 300
4) None of these

YT = (\3R0T AR,
Bl =20,B2 =24,B3 =15,B4 =20



Average (B1, B2) I QM B1 \3 B2 19 1Y ([{K IO K

Average (B1, B2) = (20 + 24)/ 2 = 22

Product (B3: B4) a1 [/M B3 \3 B4 17 QTP ([{K PO [

Product (B3: B4) = 15 x 20 = 300

Min (Average (B1, B2), Product (B3: B4)) 7K1 & Average (B1, B2) \3 Product
(B3: B4) <

HIR (F (RIT BT [H PACO A

Min (22, 300) = 22

ST, THATOA B A 22.

35) Which of the following vitamins helps in blood clotting?

1) Vitamin A
2) Vitamin C
3) Vitamin D
v 4) Vitamin K

AT : FOBTTad '@ I GEIG KT 2 I |
A0 @ATRER TARRG AT & ST IT400 ©<F I | fooiiad '@ 5iRito madi |
B - TP, TS XIS, THSTS 55 3OITM

B,

Vitamin A - (SRETETR, IToPTET Q15T AR I | B . 54, T4, T, TC 717, 5To,
TCRCOT, SEPIE <2XTP 3017 |

Vitamin C - Q3 WOIR FTRS,5M \3 DI FLS W@, 3 U5 T I, perdn, TN @Reo
QPR | B . (71, I, T, TN, TF TTOR T, WP, DAGT, DI, AR XD
Zonf |

Vitamin D - O \3 73 5150 ST I | A7 WO (RI50R PO \3 TSR PG \SHITATRRIT
Q15T 1 B . (STTY (O, §4, THSTO AT, FH (o, Foraa oyl 30m |

36) A cricketer whose bowling average is 12.4 runs per wicket takes, 5
wickets for 26 runs and there by decreases his average by 0.4. The number
of wickets taken by him till the last match was

1) 64
2) 72
3) 80
v 4) 85

TN ; 4R, P ATETH 27 QIR A B AR x B
.. » 607 2} A9 0 = (x-5)x12.4+26



=12.4x-62 + 26

= (12.4x - 36) 71

. B 51T = (12.4%-36)/X

A, PO 7K OR ST =12.4-0.4 =12
XIHCO, (12.4x - 36)/x = 12

= 12.4x - 36 = 12x

= 0.4x = 36

‘X =36/0.4 =90

CTY BRI wicket 2@ = 90-5 = 85

37) World's first budget was presented in

) Uk
2) Finland
3) USA
4) Germany

v

AT ; ACS

RICIR 2 ICHE P AT W JEACSY | AAT TIOR AT ATG SRR B3RS 2\3TT6
ATOCOE, A Ybe (W Sorbry A 218 TEHATST QTGP BIEER AR ARG AT
PRI |

UFTGNS, -5¢ AP, Sb¢0-a, ATETHT S TP FHET AV NP IRET TIOR SO (R
I | aft TSy VBT ARE IR BoETEaR J1d [k 3 |

-ITGCOIAR ST WICST, TEHICST SRPIR WARIAR I (Panew -5 1 AT IS0
AP T e |11 SRR I \3 e AR et Trvesifdo |

AP PTRP ICAT ATF TR P TSR HACF NGB WA (IS W= Pfse |
b TS ATRTPHAT, IRFTAT QI TANIRCR T TR SFF 2T I |

38) A square park is surrounded by a path of uniform width 2 meters all
around it. The area of the path is 288 square meters. Find the perimeter of
the park

1) 34 m
2) 1.156 m
v 3) 136 m
4) Cannot be determined
AT+ 4R 2P 9T 23 s x FAoR
AP CFAP = x2 IS0 |

WK, AR AP S = (x+4) IsTA0R |
. ABISR AP CFAPH = (x+4)2 IsA0R |



PIICO, (X+4)2 - x2 = 288

= X% + 2xxx42xx2 = 288

= 8x + 16 = 288

= 8x = 288 - 16 = 272

S X =272/8 = 34 TR

. Ty #3351 = 4 x 34 = 136 ROR|

39) The present age of three person are in the proportion of 4:7:9, Eight
years ago, the sum of their ages was 56 years. The present age of the eldest
person is:

1) 28
v 2) 36
3) 45
4) None of these

AT : 4R O IGHTF T 4, 7X 7L 9X 2 |

8 I27 [ IR 2ATOXPA IS B TUECH (4%-8), (7x-8) IR (9x-8) I
2PICO,

(4x-8)+(7x-8)+(9x-8) = 56

Lox=4

S RO IO GLAI WA =9X = 9 X 4 =36 =]

40) In MS-Excel, * # Name?" error occurs when-

1
2
v 3
4

Function name is wrong
Argument is wrong

Cell reference is invalid
All of these

N— N N N

A - #NAME? is a common Excel error notation that appears when a
formula or function cannot find the referenced data it needs to complete the
calculation. This could be caused by a few different things, such as a
misspelling in the formula name or an invalid reference.

41) Who is called the father of Modern education?

1
v 2
3
4

Horace Mann

John Amos Comenius
Henry Fisched

Greg Barclay

N— N N N



4T : John Amos Comenius (28 March 1592 - 15 November 1670) was a
Moravian philosopher, pedagogue and theologian who is considered the
father of modern education.

42) The area of a rectangular field is 52,000 square meters. This rectangular
area has been drawn on a map to the scale 1cm to 100m. The length is
shown as 3.25cm on the map. The breadth of the rectangular field in the
map is

AT+ AT, ARG FICK i = 3.25x100 = 325 AR
WO 10K 9% = 52000/325 = 160 oW

43) Which strait separates Australia and Tasmania?

1) Bab-el- Mandep
v 2)

3)

4)

Berring

AT : Bass Strait is a sea strait separating Tasmania from the south of the
Australian mainland, specifically the state of Victoria. Its maximum width is
240 km, its depth is 50-70 m.

44) Which of the following revolutions is related to Egg production

1
2
3
v 4

Round Revolution
Yellow Revolution
Red Revolution

Silver Revolution

N— N N N

4 : Silver Revolution:

Silver Revolution f&8 SeoMmtar Sy 57RFT |

-Silver Revolution 3e@ Q30 o f W32 Wik TR IS Beomare @R | aft
Weifa *raf QI TRETH AR I AA-gAT A1eTd Qe A1 foq B Amiad SaIEd S
I |

5 \3 - PFOR A ISR WAR T AR \3 (@1 GO ORI S0 |
-Silver Revolution ©R, 514, @RI 2efs ¢oT &8 \3 FhfR S SEisy Saed



oI
BeX : Geeksforgeeks.org

45) What is the signature rate of Bangladesh as per Population and housing
Cencus-2022

74.66 %
76.74 %
68.76 %
75.799 %

vl
2
3
4

~— N N

AT 2 GG APFAOR TR 48.9Y % ; FY 9% ;, A1 Q0% ;ATHAOR - @RI (CSeT) TP
(Abr.0%) AFFIOR 2 P ((SET) TFARIRS (YA.0%)

46) If the average of 'm' numbrs is n? and that of 'n' number is m?, then the
average of (m+n) number is:

1) m+n

2) m-n

3) m/n
v 4) mn

I : CRATWCZ, N2 = (Sm)/m

.. Ym = mn?
WRK, m2 = Sn/n
~nm?2 =3n

SoMA4n Q<9 o

(Em + >n)/ (m+n)

= (mnZ2+nm?)/ (m+n)
= mn(m+n)/(m-+n)
=mn

47) Who is the writer of the book titled "The Cruel Birth of Bangladesh?

1
v 2
3
4

Richard Nixon
Archer Kent Blood
Simon deming
Mark Tally

S~— N N N

4T : The Cruel Birth of Bangladesh: Memoirs of an American Diplomat, is
American Diplomat Archer Blood's account of the emergence of Bangladesh,
published by University Press Limited in 2002. After the State Department



declassified the documents, telegrams and other messages relating to this
period, Blood wrote 24 chapters describing the events of 1971 as he and the
staff of the United States Mission in Dhaka witnessed.

48) Webcam is a type of -------- device in a computer system.

1) system
2) Analogue
v 3) Input

4) Output

AT : FRBTRCE fACAT A1 (BT oI Ty (@ S T IRTO 2 IS 33740 ooz
I | 399 TIRCR T AT AR (2T IT 3 | IF9[ ATFAe39 e efFarems 21
TMOLT OGRS HICH TP 2MTd 3T |

49) Which country is known as the "Land of Cakes"?

1
2
v 3
4

Belgium
France
Scotland
Italy

~— N N

MY : TGP NG 0P (@ I A |

TR @F IACA BF IR T oS

AT (P COIRA JIHTA 267 \I5 (F NG AT <T5T) |
g @ M3 v O

50) If X/(2x+y+2z) = y/(X+2y+2z) = z/(x+y+2z) = a, then find the value of 'a'if
(X+y+z) # 0



, X y
s | & —f——e —t——a
olution: a1, Cx+ry+d e+

(x+y+22)

Ty 1
‘(xbyer) a
y __1

(x+2v4 2 a

EE o

R =3 =

(X+y+22) a
A

|
*2x v v+ a

T - (i) 5T 1%
— P U300 5L JTe (1)
WA,y + 2y 4 2=y e (#f)
AN X+ ¥+ 22 =T rnnraranas (i)
oA SRR (§) + (i) + (idi) =08 1%,

X4+ ¥+ rX+ 2y rsrxty+ 2z =ax+ay

+ ax
= dx+dysdz=alx4+v+2)
= dx+ry+d=alx+y+2)

a_immu by 2) WA Y A

51) Which of the following resembles PRUNE:HEDGE?

1
2
v 3
4

shuck:Corn
Cut:Bouquet
Trim:Hari
Reap:Crop

~— N N S

74T : Prune - 10T,
Bouquet - P CONo1
Hedge - (@0 51IC2A Q191
Trim - RICI/PI0T
Mustache - ¢s1i®
Shuck - 9F ; T

52) Which one is singular?

1) Agenda

v 2) Hypothesis
3) Media

4) Syllabi

AT singular - Plural
Hypothesis - Hypotheses
Agendum - Agenda



Medium - Media
Syllabus - Syllabi

53) ldentify the missing word in the sentence 'Which method of organizing
content points you did feel more comfortable?’

1
v 2
3
4

) among

) with

) have

) between

AN : Did you feel more comfortable with 35131 B2 comfortable with & I3
R |

54) Which of the following sentence is incorrect?

1) Nobody called, did they?

v 2) Open the door, would you?
3) He is your brother, isn't he?

4) The meeting is at 10, arn't it?

AN : Tag question W3 G ¢) @ Auxiliry verb 2011 is @Itz | B12 tag question «
isn't A2 |
W< subject U9 A he VPR tag Q@ 3 He 612 |

55) Choose the word that forms antonym of original with the prefix 'Ir'

1) rational
2) resolute
3) responsible
v 4) All of the these

A : Rational - Fem/IRE5TO
Resolute - Tbd
Responsible - TIRE , 71l

Irrational - &g
Irresolute - Wb a8 agd

Irresponsible - AIRET

56) Which of the following word is equivalent of MELEE?

1) Kindness
v 2) Brawl



3) Simple Song
4) Primitive Dance

AT : Melee = Brawl - 5107 ; RAm
Primitive dance - @i 3oy

57) Which underlined part of the following sentence has an error?

vl
2
3
4

As road traffic increases
elevated highways are
built to help solve the
problem of traffic jam

~— N N

1A : Traffic IO B 5ADH, TGRS T ST JNTCAT =, B3 A3 Y road IAER
TP (3 |

@ 03 As traffic increases, elevated highways are built to help solve the
problem of traffic jam.

58) ldentify the missing word in the sentence 'Tomal behaves strangely at
times and therefore, nobody gets with him?"

1
2
v 3
4

about
through
along

)
)
)
) up

TN : Get about - IR JY T AW TG 10T |

Get through - I <71, AKH AT

Get up to somebody - & el ; (SZ AN |

I Y RO 2T 1 AT @ 7Y Get along with somebody I | B3 W2PTd ¢)

3P B\A |

59) Select the word that cannot be replaced for the word underlined in the
sentence. 'The speaker's address about a career is a little neblou at this
point.

v 1) Sententious
2) jumbled
3) vague
4) tenuous

1A : Nebulous - 1915 ; o778
Tenuous - 1T, 5@



Jumble - BT
Sententious - S WS KA ©FCS IO AT U0 Tos

60) Three of the following words are related in some way. Which is not
related to others?

1) Drip

v 2) Intrusion
3) Percolation
4) Effluence

QAT : Intrusion - WARO AR, TRITTKED AR | B3 W5 b) X odd word
Drip - CPICTI GPIDR O “M1 o1 |

Percolation - B3¢ *M1 (GTICAT ; fRHoICY BT M1 IQIAT |

Effuence - TIdIRO A& ; TRTIRED AT |

61) Identify the correct spelling.

1
2
3
v 4

Sizophrenic
Schizophranic
Scizphrenic
Schizophrenic

S~— N N N

1N : Schizophrenic - FARR ([Pt

62) Find the synoym of the underlined word in the sentence 'l relinquished
my place in line to back and talk with my friend".
1) defended
2) delayed
v 3) yielded
4) remanded

A : Relinquish - O115T 4T
Defend - W1 41 5
Delay - ke @1

Yield - o151 41

63) Complete the sentence 'Soils are the result of ------ interacting process
----- bring different materials together.'

1) a few, by which
v 2) some, that



3) most of, which
4) such, as

AN : AR URTR oy $e1 31 Soremo I |1 | 98 5000 Result of some
interacting processes X B0 PR 9 ' that' I | B3 3 B\3F W b)

64) The passive form of the sentence 'l had already shown her photo to the
policeman' should be

1
2
v 3
4

The policeman was already shown her photo

Her photo was already been shown to policeman
The policeman had already been shown her photo
The policeman have already been shown her photo

~— N N

M : Active voice Q3 IO GiYd Had T2 | 9K OR¥IE W2 shown, T verb a3
past participle, B2 Q3 APV Passive IO T Had been g, B3 1fd B\17|

65) Which of the following sentence is correct?

1) The mobile set is almost same like mine.
2) The mobile set is almost same like me.

v 3) The mobile set is almost the same as mine.
4) The mobile set is almost same like myself.

AT = QP3 KRR T RS AT 9P3 RS The same as' phrase B I
CHA same like 7 BT (71 T 1| BB B\37 W9 )

66) Which underlined part of the following sentence has an error?

v
2
3
4

Each furniture on display in the central
mail_is on sale

for thirty percent off
the reqular price

~— N N S

AT : @) A< furniture W< [ Each a1 X singular Number X1 Each item
Each piece XX

67) “White Collar Job" means "

1
2
3
v 4

a job without any work

a thankless job

a job with much hardship

a job without manual labour

S~— N N N



1A : White collar job @Y professional, managerial @& administrative I1&
@@ manual labour @21 3ie, a job without manual labour.

68) Identify the substitute word for the sentence 'One who is not easily
pleased by anything.'

1) Maiden

2) Mediaeval

3) Precarious
v 4) Fastidious

AT : One who is not easily pleased by anything is called Fastidious.
Fastidious 3 W8 Y5Y(T ; (TN YACO B |

69) The term 'Prime facie' means

1) Primal face

2) Primitive man

3) Main facilities
v 4) At first sight

I : Prime facie' O 2d w(d 31 2Udeta YK fofara |

70) Choose the sentence that has an adjective
1) He is doing well
v 2) He is well
3) Thatis a well
4) Well, | am not looking for him

AT : WA b) (@ 'well' *™D 'he' @ Modify IWCE | O3 QATE 'well' =7 adjective. 53

Option A ©'well' Adverb. Option C (& 'well' Noun; Option D o 'well’
Interfection.

71) Find the odd word from the following options.
1) Plaudit
2) Approbation
3) Acclaim

v 4) Revere

T : Revere - 2@ RO SIS a1 3411 6 pluadit - SEEMASHP HPR 1
FJoIeT ; Approbation - XG™d I1 FFOI 714 ; Acclaim - ST TS Sl




72) Fill the gap in the sentence 'Recent linguistic research has shed light on
the role played by ------- regardless of their gender.'

v
2
3
4

the way people speak
how people were spoken
how do people speak
people are speaking

~— N N S

AN = IRPIOCE APTD ROTY $RC Pattern A3 3T IeT1 2002 | W A €9GK pattern & By
the way TR 2™ 31 IR | T AT a) (5 AR |

73) Which of the following is the analogy of SAGACIOUS?

1) Affectionate
2) Incisive

v 3) Fatuous
4) Sedentary

TN : Sagacious - 338 RERMAsToF |
Affectionate - G

Fatuous - T, Sogfa

Sedentary - I A0 PACO A AT

Saga - TR IIRAPRERT |

74) Which of the following spelling is correct?

vl
2
3
4

Precedence
Presedence
Precedance
Prescedence

S~— N N N

I : Precedence T @som 1 AsKGOR WGP, ST |

75) Which of the following is the analogy of COWARD:CRAVEN?

1) Liar:Facetious

2) Commentator:Caustic

3) Judge:Impartial
)

v 4) Dupe:Gllible

4 : Coward - OFF ,
Dupe - q9RM ; QT I1didr
Liar - fORM ,



Commentator - SRR
Judge - REREPI IS T
Craven - QORE GiP
Gullible - 3=0& AQTKACIST
Facetious - 3181 R,
Caustic - 9% ; o

76) Choose the appropriate prepositon to complete the sentence 'The baby
clings ----- his mother's cloak’

T : FER PI9RG <TG P 4 A4 T Cling to his mother's cloak I3 | ©R &P T3
a)

77) ITEI FTORP SHEACH P AT @1 AfIPR ORI 22



YT : TOPEH PR ARTGR RPICT @It TRo AT [} ST <11etd 3 |

SH0 HIER FG FICH TGP BRI CHAPGUA D151 PR PAPTOR PR Q& Wpeeye] AP
53 Ol AIRET |

5f3 ToFe i Tod TGP @ETHETT SRS @R T T S |

3’—@ WHW@H ACQTANFITH ﬁ?ldQlﬁllﬂ AYH %ﬁg (AT OIKCO] AU AR Wﬁ@@l
U3 50 AT OIK [T FR0T ¢ REITONER T ! it 291 @ FRO10 SiqeeRar o o
TR} DITHITATA (T (R, AT WF0 10 5@, 7 A S ATHS A0a0% FHw 2 | PR 210
AR 217 RFR STACADS @10 TGIIR TR PIROK 2P QP 21 TGP
MR fAPD (2 PR |
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o2 7 3on |

ST RO TP 202 (AP (PP dSPER AfoPioss ok Rme ol « [ars
LAY APTING T DO I PGP FICH (Y93D) | PRI IAY TR0 FACS [9f ST
SR | ¢ RO SRR Sy 24200 Bice ¢ Remak @R 36 2 91| ¢ Riennd 91 afb [iftss
ATTPT ~Agmo\s 2 W3R dorer’ Ramal [ 7 die #[{H o e IEa|

53 ARG 932 1T TR \3 120 fealsTl, . Gifa CRR |

78) =TT fCT FIAT T AISIYRIL'T T?

AT : AL T ST =101 2T, ey, Torom 13 TP NATHBCATD AATT STATH ICT |

80) et R RAIIOTIE > @10 ?

1) Rifoa
v 2) a3
3) 3T



4) b
T 2 ¥R Y 11 I [Rod qee'enfow | Ol Rokior& '

81) TIRIART T X AT QU "F' fF T IT IRZ0 TAC?

1)
0) T

v 3) afoRe
4) -

AT 2 ' IR F G T QT ' JR =00 Af6Re e I7as 200w |

TR (T SRR (T I, TIP3 ' G I AT | ST A4 ! J =it arfois o Iae
AT

@ T T POPIA RO, RO 3 fF o M Iae. @SET 133 [N oy IRTo
2 3R 13 X Roq Roa Ay IRz T Fod foq T 2P I | Q SO IR ARG \3
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T, (@CE6T GIAY TR §U @ACZ | AT’ O, o Y WK [ | Fqor ' oy IO 19
U T OO TG AT |

T . GNI-PPFI, T, IR JIER |

82) faReers' 3 5w % R @maft?

AT = [R50 S0 3R 1 R T TT @ AR W O [ts! @k 6T |

- Ris¥sf .}’ Rk SRS @ Rs¥sf 2, O 3-8 K51 I | T8d < WS- WIS, AR
Wi, 51- 43, 001 |
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83) fatbd @TAb TR TGS ?
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AT : VEIRCR [FF R AT TGS | TFAS TAT, @ QIR ITFREFA |

84) G5 AT 15 "TAT' (T (TG?

AT : CTETP 4O 5001 AT 2Ros QICST (T 4T 5110 2, OIP SO 410 A0 | (THAg (7 + Wl -
G 5 G 4+ AN = 20T ; I 4+ AT = I

85) I14 (AP IV 2173 - 9P AN APPI?

YT 2 DY (AP DIV 1S - AP PR AP W51 (ROTy o)

86) fatsa 1AM Teie 1 Ry 93 BHIda?
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3) ™ — AP
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89) TP UK ST AP AR @TAD?



T4 1 RO TRICE "W’ 2foRT 7R 5173 WA 57 SHISRT T8 vOre] + © + G = OIS 5 VA +
Tk = O

90) RRTOTY IATRPACH T ENIETP T ATEATD S 2?2

1) widog
2) FHNOG
3) IPTOG
v 4) oy

A : RAFrOrL IAPACR WAOG A7 e QLT AT 2 |

widogs wid, 5%, 0-3,3-3

XRTOGS XTH, AR, G, 364, o7, IRP, RS, ST, 167, 2709, G515 |
IRPTOG S PR 510d AT, AR RfGT SR TS \3 Rers
WLEG 8 X1 \3 IR WY RO 7 T 2P |
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92) (1A MO ATOT AR AR IRPHCD ATOT [ DY IR0 ZAZ?
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93) AT FNATH AU I BTN @102
v 1) 350
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